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2 Round each amount to the nearest pound. -
(a) £6-98 (b) £372 () £12:24 (d) £16:80
(e) £1909 (f) £13-45 (9) £14:55 (h) £156]
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Round the prices to the nearest pound and estimate the total cost of

(a) Mousetrap and Battleships (b) Battleships and 4 in-a-ro¥

(c) Mousetrap, 4 in-a-row and Battleships 3
(d) Mousetrap, Battleships and Beat-the-Clock. i

4 Explain your answer each time.
Use the prices rounded to the nearest pound. Estimate if you can 4
(a) Beat-the-Clock and 4 in-a-row with a £10 note
(b) Battleships, 4 in-a-row and Beat-the-Clock with a £20 note:
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Zoé buys 3 different items.

3\1,&% spends £2:90.
hat could she buy?

S altogethe’

3 Sami buys 4 item
£9 and £10.

w spends betwee!)
hat could he buy?

£2:40

b @ £1:70 + B =
£3-50
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